
2 bls M12*110
2 rdls ø14*40

3 bls M12*130
+3 rdls 14*40

2 bls M12*320

4 bls M16*300
+8 rdls 16*50
Vis anti-fendage 2*3 VGZ 5.6*160

4 bls M16*300
+ 4 rdls 18*50

SAE 500/100/2
4 bls M12*140

SAE 500/100/2
4 bls M12*140

Couverture

6 bls M12*130 mm
12 rdls M12

6 bls M12*130 mm
12 rdls M12

GSE 380/100/2.5

3 brchs ø12*100 - 100mm

4 brchs ø12*100 - 140mm

4 brchs ø12*100 - 140mm4 bls M16*320
+ 8rdls ø18*50

2 bls M12*110
2 rdls ø14*40

2 bls M12*320

2 bls M12*320

2 bls M12*110
2 rdls ø14*40

2 bls M12*110
2 rdls ø14*40

2 bls M12*110
2 rdls ø14*40

2 bls M12*320

2 bls M12*320

12 bls M16*320

6 brcs M12*100

6 bls M16*160

3 bls M12*130
+3 rdls 14*40

4 bls M16*300
+8 rdls 16*50
Vis anti-fendage 2*3 VGZ 5.6*160

2 bls M12*300

2 bls M12*110
2 rdls ø14*40

2 bls M12*110
2 rdls ø14*40

2 bls M12*300

4 bls M16*300
+ 4 rdls 18*50

4 bls 16*320
8 rdls 18*50

SAE 500/100/2
4 bls M12*140

1799

100

1907

100

1907

100

1793
SAE 500/100/2
4 bls M12*140

SAE 500/100/2

SAE 500/100/2

-505

+6116

+3644

+3068

+5475

+2025

22

16020053201401580480160

4 bls M16*300

4 bls M12*140

4 bls M12*140

+ 4 rdls 18*50

2 bls M12*110
2 rdls ø14*40

2 bls M12*300

2 bls M12*300

2 bls M12*110
2 rdls ø14*40

6 bls M12*130 mm
12 rdls M12

6 bls M16*160
4 bls M16*300
+8 rdls 16*50
Vis anti-fendage 2*3 VGZ 5.6*160

520 140 140 2521 140 4839 200

8500

± 0

+2540

+6131

+3573

+4149

2278

100

1907

100

1907

100

1799

211

8400
10

0
29

10

4 bls M16*300 mm
+ 8 rdls M16

4 brchs M12*140 mm4 brchs M12*140 mm

6 bls M16*240 mm
+ 9 rdls M16
+4 brchs M16*200

4 bls M16*180 mm
+ 8 rdls M16
+5 brchs M16*140

1 bl M24*80 mm
+ 2 rdls M24

GSE 380/100/2,5

4 brchs ø10*140

3 brchs ø12*140 3 brchs ø12*140

6 bls M20*250 mm
+ 4 bls M20*240 + 4 rdls M20

4 bls M16*180 + 8 rdls M16
+ 5 brchs ø16*140 mm

5 bls M12*160 mm

6 brchs M12*100 mm

6 bls M20*250 mm

4 bls M16*180 + 8 rdls M16
+ 5 brchs ø16*140 mm

25 brchs M12*200 mm25 brchs M12*200 mm

16 brchs M12*120 mm

1 bls M12*280 + 1 bls M12*100

SAE 500/100/2
4 bls M12*140 mm

3 bls M12*130 mm

12 rdls M12
6 bls M12*130 mm

6 bls M12*130 mm
12 rdls M12

+ 1 bls M16*50

SAE 500/100/2
4 bls M12*140 mm

6 bls M16*160 mm
+ 4 bls M12*160 mm

3 bls M16*160 mm

3 bls M12*130 mm
+ 3 rdls M12

4 bls M16*300 mm
+ 8 rdls M16

3*2 vis VGZ ø5.6*160 mm

±0

+2540

+6131

+3573

+2984

520 140 140 3426 140 3934 200

8500

4 bls M16*300 mm
+ 8 rdls M16

2 bls M16*240 mm

+3 brchs M16*200
+ 4 rdls M16

4 brchs M12*140 mm 4 brchs M12*140 mm

GSE 380/100/2,5

3 brchs ø12*140

4 brchs M10*140 mm

3 brchs ø12*140

4 brchs M10*140 mm

GSE 380/100/2,5

10 bls M20*250 mm

2 bls M24*80 mm

4 bls M16*180 + 8 rdls M16
+ 5 brchs ø16*140 mm

10 bls M20*250 mm

3 bls M24*80 mm

4 bls M16*180 + 8 rdls M16
+ 5 brchs ø16*140 mm

12 rdls M12

6 bls M12*130 mm

9 bls M12*160 mm

6 brchs M12*100 mm

16 brchs M12*200 mm

10 brchs M12*120 mm

SAE 500/100/2
4 bls M12*140 mm

SAE 500/100/2
4 bls M12*140 mm

SAE 500/100/2
4 bls M12*140 mm

6 bls M12*130 mm
12 rdls M12

3 bls M12*130 mm
+ 3 rdls M12

6 bls M16*160 mm

4 bls M16*300 mm
+8 rdls M16

3*2 vis VGZ ø5.6*160 mm

2 bls M12*300 mm

2 bls M12*110 mm

± 0

1 bls M12*280 + 1 bls M12*100

SAE 500/100/2
Entièrement pointé

Face arrière :
SAE 500/100/2
+ 4 bls M12*130

2 bls M12*110
2 rdls ø14*40

Chapelles à prévoir
pour passage des têtes des boulons
dans l'arbalétrier

2 bls M12*110
2 rdls ø14*40
4 Chevilles M10

4 bls M16*320
+ 8rdls ø18*50

2 bls M12*320

2 bls M12*110
2 rdls ø14*40

2 bls M12*320

2 bls M12*110
2 rdls ø14*40

4 bls M16*320
4 rdls ø18*50

3 bls M12*120
3 rdls ø14*40

3 bls M12*120
3 rdls ø14*40

6 Vis 6*200 3 bls M12*140
3 rdls ø14*40

3 bls M12*140
3 rdls ø14*40

4 bls M16*320
4 rdls ø18*50

2 bls M12*320

bl M12*400
2 rdls 14*40

bl M12*400
2 rdls 14*40

bl M12*400
2 rdls 14*40

bl M12*400
2 rdls 14*40

SAE 500/100/2
Entièrement pointé

3 bls M16*140

3 bls M16*140

6 bls M16*160
+ 4 bls M12*160

3 bls M12*130

10 bls M16*250

16 brcs M12*120
+ 9 bls M16*160

6 bls M12*130 mm
12 rdls M12

6 brcs M12*100

19 brcs M12*200

5 brcs M16*140
4 bls M16*180
+8 rdls 18*50
+ bl M24*80
+ 2 rdls 27*70

5 brcs M16*140
4 bls M16*180
+8 rdls 18*50
+ bl M24*80
+ 2 rdls 27*70

5 brcs M16*140
4 bls M16*180
+8 rdls 18*50
+ bl M24*80
+ 2 rdls 27*70

3 bls M12*130
+3 rdls 14*40

5 brcs M16*140
4 bls M16*180
+8 rdls 18*50
+ bl M24*80
+ 2 rdls 27*70

5 brcs M16*140
4 bls M16*180
+8 rdls 18*50
+ bl M24*80
+ 2 rdls 27*70

10 bls M16*250

53

1746

2007

100

1907

100

1793

7705

Face arrière :
SAE 500/100/2
+ 4 bls M12*130
+4 rdsl 14/40

1602005320140158030018016080

± 0

+2530

1602007780520

4 bls M16*180 + 8 rdls M16
+ 5 brchs ø16*140 mm

Fixation poteau
cadre menuiserie

---- --

---- --

---- --

EXETTNELE23 0 DE21-075

---- --

Bureau d'études techniques Bois & Acier

---- --

2 rdls ø14*40

327

639 634

331

236

191

532

330

328

481

485

326

327

52

366

495

231

227
323

45

459

232

233

228

538539
520

658

61
6

638

33
3

29

610

+ 1 bls M16*50 CL8.8

+ 1 bls M16*50

192

475

484

442

71

72

74

5108

69

217

344

343

335

336

72
2

723

712

71
5

71
1

152

35

67
3

631

486
475

442

71

91 441 34
0

69217

344

317

343
338

335

759

33
6

71
7

720

706

152
458

575
569

673

383

384

320

631

+ 1 bls M16*50

88

30
5

304

266

45
7

28
1

474

476

199

207

15

654

273

279

54
3

796

22
5

622

624

61
4

639

322

321

634

635

637

636

623

621

33
1

330

32
8

48
1

32
6

32
7

36
6

32
3

45
9

47
9

49
9

38
5

61
6

61
5

32
5

324

638

31
487

1131
2

727

12
2

389348

369

72
9

72
5

391

370

229

794

235

798

363

418

287

51
8

51
9

527

365

732

643

GSE 380/100/2,5

4 brchs ø10*140

+ 1 bls M16*50

+ 1 bls M16*50

390
401

799797798

66
9

70
5

730

73
1

200

649

356

5

361

60

359

728

72
6

11
0

133

276
414

1

28
9

23
5

22
9

41
8

36
3 348

36
9 38
9

39
8

38
9

40
1

26
9

41
8

80

13
3

28
736

5

655

75
5

75
6

66
3

54

12
726
9

36
5

35
9

60
37

0

36
9

5

36
1

36
3

28
7

649

200

66
9

35
5

27
1

35
6

35
3

348

95

643

346 34
7

772

65
1

77
3

70

66
5

41
5

41
3

27
6

41
4

23
5

22
9 75

6

37
0

75
5

304

474
481

207
366

331

459
654

613

614

330

639

328

326 327

32
3

322

32
1 634

635

637

636

+ 1 bls M16*50 CL8.8


